Geometry

Area of Polygons
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Find the area of each.
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Find the area of each circle. Give your answer in terms of 7.
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Find the area of each. Use your calculator's value of t. Round your answer to the nearest tenth.
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Find the area of each regular polygon. Round your answer to the nearest tenth if necessary.

49) 50)

o~

51) 52)

53) 54)

&
=
O

7

55) 56)

[ ]
=2
(o))
o
> |
<

© 2013 Kuta Software LLC. Allrights reserved. Made with Infinite Geometry. —-5-



57)

59)

61)

63)

65)

-[%
M

by

13

14

P
>

iy

14

© 2013 Kuta Software LLC. All rights reserved. Made with Infinite Geometry.

58)

60)

23

62)

3043

64)

283

66)

243



67)

12

69)

71)
62

© 2013 Kuta Software LLC. All rights reserved. Made with Infinite Geometry.

68)

70)

72)

1242

13

572




Worksheet: Area of Trapezoids, Rhombi and Kites Name: Period:

Find the area of each trapezoid.
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Find the area of each rhombus. Round to the nearest tenth, if necessary.
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Find the area of each kite. Round your answer to the nearest tenth.
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Find the area of each of the following.
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14) Rhombus ABCD with AC = 10 and BD = 17 15)
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Find the area of the following.
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Find the area of the trapezoids.
21) The median is equal to 25 cm and the 22) The median is equal o 24 m and
height is 8 cm. the height is 9 m.
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23) The area of a rhombus is 90 square units. If one diagonal is 10 units, find the length of the other diagonal.

24) The area of a trapezoid is 75 square inches, and its two bases are 8 and 17 inches long. Find the height of
the trapezoid.

25) A rhombus has a perimeter of 100 meters and a diagonal 30 meters long. Find the area of the rhombus.



26) The area of a trapezoid is 126 square feet with a height of 9 feet and the length of one of the bases is
13 ft. Find the length of the second base.

27) The area of an isosceles trapezoid is 77 square inches, the height measures 4 inches and the legs are 5
inches long. Find the lengths of the bases.

28) A rhombus has an area of 20 and one diagonal of length 12. Find the length of the other diagonal.

29) A trapezoid has a height of 10, one base of length 5, and an area of 60. Find the length of the other base.

30) The length of one of the diagonals of a kite is 4 cm longer than twice the length of the other diagonal.
The area of the kite is 15 cm?. Find the length of each diagonal.

31) The length of one of the diagonals of a rhombus is 5 cm less than the length of the other diagonal.
The area of the rhombus is 33 cm?. Find the length of each diagonal.

32) The lengths of the bases of an isosceles trapezoid are shown below.

14 units If the perimeter of this trapezoid is 32 units, what is its area?
A 44 square units
B 110 square units
c 88 square units

8 units D 55 square units

This worksheet modified from ebrownchs.files.wordpress.com/2010/03/15-4-10-2-revisedws.doc, on Thursday,
May 2, 2013.



